

Department of Education

REGION VI – WESTERN VISAYAS SCHOOLS DIVISION OF CAPIZ

COMPARATIVE ASSESSMENT RESULT FOR MASTER TEACHER I FY 2023 DISTRICT OF DAO

	PERFORMANCE	EXPERIENCE	Credit Points for Leadership Potentials and Accomplishments									
APPLICATION CODE	RATING (SY 2021-2022)	(YEARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)	
ELEM-MTCH-GN13658	5.000	15	20	12	12	12	12	12	10	10	100	
ELEM-MTCH-WN40731	4.950	10	20	12	12	12	12	12	10	10	100	
ELEM-MTCH-DA54719	4.950	17	20	12	12	12	12	12	3	10	93	
ELEM-MTCH-BO93754	4.950	13	20	12	12	12	12	12	3	10	93	
ELEM-MTCH-GO05219	5.000	24	20	12	12	12	0	12	6	10	84	
ELEM-MTCH-BD84853	4.950	25	20	12	12	12	0	12	3	3	74	

^{***}NOTHING FOLLOWS***

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIE B. SAMPANI, CPA, MPA
OIC, Office of the
Assistant Schools Division Superintendent
Chairman

MARLON P. DESTREZA, EdD Chief Education Supervisor – SGOD Member SEGUNDINA F. DOLLETE, EdD Chief Education Supervisor - CID Member

KENNETH D. ANOCHE

EPS II - ALS

OIC, Office of the Administrative Officer V

Member

MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII Member

Approved by:



Department of Education

REGION VI – WESTERN VISAYAS SCHOOLS DIVISION OF CAPIZ

COMPARATIVE ASSESSMENT RESULT FOR MASTER TEACHER I FY 2023 DISTRICT OF DUMALAG

	PERFORMANCE	PERFORMANCE EXPERIENCE		Credit Points for Leadership Potentials and Accomplishments									
APPLICATION CODE	RATING (SY 2021-2022)	(YEARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)		
ELEM-MTCH-LA50085	4.950	10	20	12	12	12	12	12	8	10	98		
ELEM-MTCH-CA56612	4.950	18	20	12	12	12	12	12	5	10	95		
ELEM-MTCH-CA07470	4.800	24	20	12	12	12	12	12	3	10	93		
ELEM-MTCH-MO28576	4.950	11	20	12	12	0	12	12	8	6	82		
ELEM-MTCH-AS89001	4.924	26	20	12	12	12	12	0	3	10	81		
ELEM-MTCH-GO15969	4.900	17	0	12	12	0	12	12	3	8	59		

^{***}NOTHING FOLLOWS***

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIE B. SAMPANI, CPA, MPA
OIC, Office of the
Assistant Schools Division Superintendent
Chairman

MARLON P. DESTREZA, EdD Chief Education Supervisor – SGOD Member SEGUNDINA F. DOLLETE, EdD Chief Education Supervisor - CID Member

KENNETH D. ANOCHE

EPS II - ALS

OIC, Office of the Administrative Officer V

Member

MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII Member

Approved by:



Department of Education

REGION VI – WESTERN VISAYAS

SCHOOLS DIVISION OF CAPIZ

COMPARATIVE ASSESSMENT RESULT FOR MASTER TEACHER I FY 2023 DISTRICT OF DUMARAO

	PERFORMANCE	EVDEDIENICE	Credit Points for Leadership Potentials and Accomplishments									
APPLICATION CODE	RATING (SY 2021-2022)	(YFARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)	
ELEM-MTCH-DY95865	4.950	18	20	12	12	12	12	12	6	10	96	
ELEM-MTCH-AA58562	4.950	22	20	12	12	0	12	12	10	10	88	
ELEM-MTCH-AN14140	4.850	12	0	12	0	12	0	0	0	10	34	

NOTHING FOLLOWS

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIE B. SAMPANI, CPA, MPA
OIC, Office of the
Assistant Schools Division Superintendent
Chairman

MARLON P. DESTREZA, EdD Chief Education Supervisor – SGOD Member SEGUNDINA F. DOLLETE, EdD Chief Education Supervisor - CID Member

KENNETH D. ANOCHE
EPS II - ALS
OIC, Office of the Administrative Officer V
Member

MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII Member

Approved by:



Department of Education

REGION VI – WESTERN VISAYAS SCHOOLS DIVISION OF CAPIZ

COMPARATIVE ASSESSMENT RESULT FOR MASTER TEACHER I FY 2023 DISTRICT OF IVISAN

	PERFORMANCE EXPERIEN	EVDEDIENICE	Credit Points for Leadership Potentials and Accomplishments										
APPLICATION CODE	RATING (SY 2021-2022)	(YFARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)		
ELEM-MTCH-VN88047	4.950	27	20	12	12	12	12	12	6	10	96		
ELEM-MTCH-AN50170	5.000	27	20	12	12	0	12	12	10	4	82		
ELEM-MTCH-DN32403	4.950	8	20	12	12	12	0	12	10	2	80		

NOTHING FOLLOWS

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIE B. SAMPANI, CPA, MPA
OIC, Office of the
Assistant Schools Division Superintendent
Chairman

MARLON P. DESTREZA, EdD Chief Education Supervisor – SGOD Member SEGUNDINA F. DOLLETE, EdD Chief Education Supervisor - CID Member

KENNETH D. ANOCHE
EPS II - ALS
OIC, Office of the Administrative Officer V
Member

MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII Member

Approved by:



Department of Education

REGION VI - WESTERN VISAYAS
SCHOOLS DIVISION OF CAPIZ

COMPARATIVE ASSESSMENT RESULT (CAR) FOR MASTER TEACHER I FY 2023 DISTRICT OF JAMINDAN

	PERFORMANCE	EXPERIENCE		Cre	dit Points f	or Leaders	hip Potent	ials and Acc	omplishme	ents	
APPLICATION CODE	RATING (SY 2021-2022)	(YEARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10) 10 10 10 10 10 10 10 10 10 10	TOTAL (100)
ELEM-MTCH-VS38755	4.950	13	20	12	12	12	12	12	3	10	93
ELEM-MTCH-RZ43773	4.900	18	20	12	12	12	12	12	3	10	93
ELEM-MTCH-PO08137	4.950	20	0	12	12	12	12	12	10	10	80
ELEM-MTCH-DA42994	4.867	16	20	12	12	12	12	0	6	3	77
ELEM-MTCH-DE78044	4.950	20	0	12	12	0	12	12	6	10	64
ELEM-MTCH-ME42988	4.800	14	0	12	12	0	12	12	6	10	64
ELEM-MTCH-FO10766	4.900	11	0	12	12	12	12	0	3	10	61
ELEM-MTCH-GE79452	4.900	17	0	12	12	0	12	0	10	10	56

NOTHING FOLLOWS

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNE B. SAMPANI, CPA, MPA

Assistant Schools Division Superintendent

Chairman

MARLON & DESTREZA, EdD Chief Education Supervisor – SGOD

/ Member

SEGUND NA F. DOLLETE, EdD Chief Education Supervisor - CID

Member

KENNETH/D. ANOCHE EPS II - ALS

OIC, Office of the Administrative Officer V

Member

MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII

Member

Approved by:



Department of Education

REGION VI – WESTERN VISAYAS

SCHOOLS DIVISION OF CAPIZ

COMPARATIVE ASSESSMENT RESULT FOR MASTER TEACHER I FY 2023 DISTRICT OF MAAYON

	PERFORMANCE	EXPERIENCE	Credit Points for Leadership Potentials and Accomplishments										
APPLICATION CODE	RATING (SY 2021-2022)	(YEARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)		
ELEM-MTCH-PY16319	4.900	14	20	12	12	12	12	12	6	10	96		
ELEM-MTCH-DO13877	4.800	28	20	12	12	12	12	0	10	10	88		
ELEM-MTCH-FN01265	4.850	18	0	12	12	12	12	12	3	10	73		
ELEM-MTCH-LL83042	4.900	20	0	12	12	0	12	12	10	10	68		
ELEM-MTCH-LZ87160	4.850	19	20	0	0	12	12	12	3	0	59		
ELEM-MTCH-CT32885	4.750	17	0	12	0	12	12	0	6	10	52		

NOTHING FOLLOWS

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIE B. SAMPANI, CPA, MPA OIC, Office of the Assistant Schools Division Superintendent Chairman MARLON P. DESTREZA, EdD Chief Education Supervisor – SGOD Member SEGUNDINA F. DOLLETE, EdD Chief Education Supervisor - CID Member

KENNETH D. ANOCHE

EPS II - ALS

OIC, Office of the Administrative Officer V

Member

MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII Member

Approved by:



Department of Education

REGION VI – WESTERN VISAYAS SCHOOLS DIVISION OF CAPIZ

COMPARATIVE ASSESSMENT RESULT FOR MASTER TEACHER I FY 2023 DISTRICT OF MAMBUSAO EAST

	PERFORMANCE	CADEDIEVICE	Credit Points for Leadership Potentials and Accomplishments										
APPLICATION CODE	RATING (SY 2021-2022)	(YEARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)		
ELEM-MTCH-LZ32310	5.000	16	20	12	12	12	12	12	8	10	98		
ELEM-MTCH-LZ44882	4.900	16	20	12	12	12	12	12	8	10	98		
ELEM-MTCH-TA04107	4.950	12	20	12	12	12	12	12	3	10	93		
ELEM-MTCH-CA61938	4.900	13	20	12	12	12	12	12	3	10	93		
ELEM-MTCH-EL32880	4.950	18	20	12	12	12	12	12	6	3	89		
ELEM-MTCH-LZ04660	4.950	16	20	12	12	12	12	12	3	2	85		

^{***}NOTHING FOLLOWS***

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIE B. SAMPANI, CPA, MPA
OIC, Office of the
Assistant Schools Division Superintendent
Chairman

MARLON P. DESTREZA, EdD Chief Education Supervisor – SGOD Member SEGUNDINA F. DOLLETE, EdD Chief Education Supervisor - CID Member

KENNETH D. ANOCHE

EPS II - ALS

OIC, Office of the Administrative Officer V

Member

MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII Member

Approved by:



Department of Education

REGION VI – WESTERN VISAYAS

SCHOOLS DIVISION OF CAPIZ

COMPARATIVE ASSESSMENT RESULT FOR MASTER TEACHER I FY 2023 DISTRICT OF MAMBUSAO WEST

	PERFORMANCE	EXPERIENCE	Credit Points for Leadership Potentials and Accomplishments									
APPLICATION CODE	RATING (SY 2021-2022)	(YFARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)	
ELEM-MTCH-RE30244	5.000	10	20	12	12	12	12	12	8	8	96	
ELEM-MTCH-LE33139	5.000	30	0	12	12	12	12	12	6	8	74	
ELEM-MTCH-MS65565	5.000	20	20	0	0	12	12	12	10	1	67	
ELEM-MTCH-BL03240	4.800	7	20	0	0	12	12	12	8	3	67	
ELEM-MTCH-AA52375	5.000	28	20	12	12	0	0	0	6	1	51	
ELEM-MTCH-CA61274	5.000	16	0	0	12	0	12	12	10	0	46	

NOTHING FOLLOWS

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIE B. SAMPANI, CPA, MPA
OIC, Office of the
Assistant Schools Division Superintendent
Chairman

MARLON P. DESTREZA, EdD Chief Education Supervisor – SGOD Member SEGUNDINA F. DOLLETE, EdD Chief Education Supervisor - CID Member

KENNETH D. ANOCHE

EPS II - ALS

OIC, Office of the Administrative Officer V

Member

MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII Member

Approved by:



Department of Education

REGION VI - WESTERN VISAYAS SCHOOLS DIVISION OF CAPIZ

COMPARATIVE ASSESSMENT RESULT (CAR) FOR MASTER TEACHER I FY 2023 DISTRICT OF PANAY

	PERFORMANCE	EXPERIENCE	5	Cre	dit Points f	or Leaders	hip Potent	ials and Acc	omplishme	ents	
APPLICATION CODE	RATING (SY 2021-2022)	(YEARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)
ELEM-MTCH-BR04915	4.950	19	20	12	12	0	12	12	6	10	84
ELEM-MTCH-AA48777	4.900	9	20	12	12	12	0	12	6	10	84
ELEM-MTCH-DO99421	4.950	28	20	12	12	0	12	0	5	1	62
ELEM-MTCH-UO19702	4.950	11	20	12	0	12	12	0	6	0	62
ELEM-MTCH-VO88628	4.825	19	0	12	0	12	12	0	10	2	48
ELEM-MTCH-DA54291	4.676	17	20	0	12	12	0	0	0	0	44
ELEM-MTCH-AA69895	4.950	14	2	12	12	0	12	0	3	2	43

NOTHING FOLLOWS

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIEB. SAMPANI, CPA, MPA OfC, Office of the

Assistant Schools Division Superintendent

Chairman

MARLON P. DESTREZA, EdD Chief Education Supervisor – SGOD

Member

SEGUNDINA F. DOLLETE, EdD Chief Education Supervisor - CID

Member

EPSAY - ALS

OIC, Office of the Administrative Officer V

Member

MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII

Member

Approved by:



Department of Education

REGION VI - WESTERN VISAYAS SCHOOLS DIVISION OF CAPIZ

COMPARATIVE ASSESSMENT RESULT (CAR) FOR MASTER TEACHER | FY 2023 DISTRICT OF PANITAN

	PERFORMANCE	EXPERIENCE	Credit Points for Leadership Potentials and Accomplishments										
APPLICATION CODE	RATING (SY 2021-2022)	(YEARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10) 10 10 10 10 2	TOTAL (100)		
ELEM-MTCH-AL91558	4.950	25	20	12	12	12	12	12	6	10	96		
ELEM-MTCH-BN59543	4.950	21	20	12	12	12	12	12	6	10	96		
ELEM-MTCH-OR52199	4.950	10	20	12	12	12	12	12	6	10	96		
ELEM-MTCH-BS98361	5.000	14	20	12	12	12	12	12	3	10	93		
ELEM-MTCH-DS58496	4.900	8	20	12	12	12	12	12	8	2	90		
ELEM-MTCH-BE51537	4.900	15	20	12	12	12	12	0	3	10	81		

NOTHING FOLLOWS

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNE B. SAMPANI, CPA, MPA

Assistant Schools Division Superintendent

Chairman

MARKON P. DESTREZA, Edd

Chief Education Supervisor - SGOD

Member

SEGUND NA F. DOLLETE, EdD Chief Education Supervisor - CID

Member

EPSAL- ALS

OIC, Office of the Administrative Officer V Member

MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII

Member

Approved by:



Department of Education

REGION VI – WESTERN VISAYAS SCHOOLS DIVISION OF CAPIZ

COMPARATIVE ASSESSMENT RESULT FOR MASTER TEACHER I FY 2023 DISTRICT OF PILAR

	PERFORMANCE	EXPERIENCE	Credit Points for Leadership Potentials and Accomplishments										
APPLICATION CODE	RATING (SY 2021-2022)	(YEARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)		
ELEM-MTCH-DA47091	4.950	11	20	12	12	12	0	12	10	7	85		
ELEM-MTCH-MA27661	4.950	16	20	12	12	12	12	0	6	10	84		
ELEM-MTCH-DS96176	4.950	9	20	12	12	12	12	0	5	10	83		
ELEM-MTCH-OO18000	4.925	18	20	12	12	12	12	12	3	0	83		
ELEM-MTCH-FO83293	4.950	10	6.66	12	12	0	12	12	10	0	64.66		
ELEM-MTCH-PD15721	4.950	15	0	12	12	0	12	12	5	0	53		

NOTHING FOLLOWS

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIE B. SAMPANI, CPA, MPA
OIC, Office of the
Assistant Schools Division Superintendent
Chairman

MARLON P. DESTREZA, EdD Chief Education Supervisor – SGOD Member SEGUNDINA F. DOLLETE, EdD Chief Education Supervisor - CID Member

KENNETH D. ANOCHE

EPS II - ALS

OIC, Office of the Administrative Officer V

Member

MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII Member

Approved by:



Department of Education

REGION VI – WESTERN VISAYAS
SCHOOLS DIVISION OF CAPIZ

COMPARATIVE ASSESSMENT RESULT FOR MASTER TEACHER I FY 2023

DISTRICT OF PONTEVEDRA

	PERFORMANCE	EXPERIENCE		Cre	dit Points f	or Leaders	hip Potenti	als and Acc	omplishme	ents	
APPLICATION CODE	RATING (SY 2021-2022)	(YEARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)
ELEM-MTCH-DS26645	4.850	16	20	12	12	12	12	12	10	9	99
ELEM-MTCH-BA53118	4.850	29	20	12	12	12	12	12	6	10	96
ELEM-MTCH-BS91535	4.850	26	20	12	12	12	12	12	6	10	96
ELEM-MTCH-CN53471	4.963	28	20	12	12	0	12	12	8	10	86
ELEM-MTCH-RO21740	4.950	19	20	12	12	12	12	0	3	10	81
ELEM-MTCH-DD19324	4.850	18	20	12	12	0	12	12	10	0	78
ELEM-MTCH-CA80691	4.850	24	20	0	12	12	12	0	8	0	64
ELEM-MTCH-VY31450	4.850	28	20	12	12	0	0	0	3	10	57
ELEM-MTCH-DA73501	4.960	28	0	12	0	12	12	0	0	7	43
ELEM-MTCH-TA88679	4.825	16	20	0	0	12	0	0	5	4	41
ELEM-MTCH-CO35719	4.900	7	0	12	0	0	12	0	3	10	37
ELEM-MTCH-DS98367	4.825	19	0	12	0	0	12	0	3	10	37
ELEM-MTCH-RS47102	5.000	4	0	0	0	0	0	12	8	10	30

^{***}NOTHING FOLLOWS***

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIE B. SAMPANI, CPA, MPA OIC, Office of the Assistant Schools Division Superintendent Chairman MARLON P. DESTREZA, EdD Chief Education Supervisor – SGOD Member SEGUNDINA F. DOLLETE, EdD Chief Education Supervisor - CID Member

KENNETH D. ANOCHE EPS II - ALS OIC, Office of the Administrative Officer V Member MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII Member

Approved by:



Department of Education

REGION VI - WESTERN VISAYAS SCHOOLS DIVISION OF CAPIZ

COMPARATIVE ASSESSMENT RESULT (CAR) FOR MASTER TEACHER I FY 2023 DISTRICT OF SAPIAN

	PERFORMANCE	EXPERIENCE - (YEARS)	Credit Points for Leadership Potentials and Accomplishments										
APPLICATION CODE	RATING (SY 2021-2022)		A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)		
ELEM-MTCH-BO68137	4.950	20	20	12	12	12	12	12	3	10	93		
ELEM-MTCH-LS42291	4.950	15	0	12	12	12	12	12	3	0	63		
ELEM-MTCH-TO26344	4.950	17	0	12	12	12	12	0	3	10	61		
ELEM-MTCH-FO82034	4.850	17	0	12	12	0	12	12	3	10	61		
ELEM-MTCH-VA45280	4.912	16	20	12	0	0	0	12	4	3	51		
ELEM-MTCH-OS80435	4.850	10	0	12	0	0	0	12	5	5	34		

NOTHING FOLLOWS

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNG B. SAMPANI, CPA, MPA

Office of the
Assistant Schools Division Superintendent

Chairman

MARION P. DESTREZA, EdD Chief Education Supervisor – SGOD

Member

SEGUNDINA F. DOLLETE, EdD Chief Education Supervisor - CID

Member

KENNETH D. ANOCHE EPS II - ALS

OIC, Office of the Administrative Officer V Member MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII

Member

Approved by:



Department of Education

REGION VI – WESTERN VISAYAS

SCHOOLS DIVISION OF CAPIZ

COMPARATIVE ASSESSMENT RESULT FOR MASTER TEACHER I FY 2023 DISTRICT OF SIGMA

	PERFORMANCE	PERFORMANCE EXPERIENCE		Credit Points for Leadership Potentials and Accomplishments										
APPLICATION CODE	RATING (SY 2021-2022)	(YEARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)			
ELEM-MTCH-TA99698	5.000	14	20	12	12	12	12	12	8	10	98			
ELEM-MTCH-JN44074	4.950	15	20	12	12	0	0	12	3	0	59			

NOTHING FOLLOWS

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIE B. SAMPANI, CPA, MPA
OIC, Office of the
Assistant Schools Division Superintendent
Chairman

MARLON P. DESTREZA, EdD Chief Education Supervisor – SGOD Member SEGUNDINA F. DOLLETE, EdD Chief Education Supervisor - CID Member

KENNETH D. ANOCHE
EPS II - ALS
OIC, Office of the Administrative Officer V
Member

MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII Member

Approved by:



Department of Education

REGION VI – WESTERN VISAYAS SCHOOLS DIVISION OF CAPIZ

COMPARATIVE ASSESSMENT RESULT FOR MASTER TEACHER I FY 2023 DISTRICT OF TAPAZ EAST

	PERFORMANCE	EXPERIENCE		Cre	dit Points f	or Leaders	hip Potenti	als and Acc	omplishme	ents	
APPLICATION CODE	RATING (SY 2021-2022)	(YEARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)
ELEM-MTCH-GL94688	4.900	21	0	12	12	0	12	12	6	5	59

NOTHING FOLLOWS

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIE B. SAMPANI, CPA, MPA
OIC, Office of the
Assistant Schools Division Superintendent
Chairman

MARLON P. DESTREZA, EdD Chief Education Supervisor – SGOD Member SEGUNDINA F. DOLLETE, EdD Chief Education Supervisor - CID Member

KENNETH D. ANOCHE
EPS II - ALS
OIC, Office of the Administrative Officer V
Member

MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII Member

Approved by:



Department of Education

REGION VI – WESTERN VISAYAS

SCHOOLS DIVISION OF CAPIZ

COMPARATIVE ASSESSMENT RESULT FOR MASTER TEACHER I FY 2023 DISTRICT OF TAPAZ WEST

	PERFORMANCE	EXPERIENCE	Credit Points for Leadership Potentials and Accomplishments										
APPLICATION CODE	RATING (SY 2021-2022)	(YFARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)		
ELEM-MTCH-GA90146	4.950	11	20	12	12	12	12	12	8	10	98		
ELEM-MTCH-GO63962	4.950	18	20	12	12	12	12	0	6	10	84		
ELEM-MTCH-EA12565	4.950	14	20	12	12	0	12	12	6	10	84		

NOTHING FOLLOWS

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIE B. SAMPANI, CPA, MPA
OIC, Office of the
Assistant Schools Division Superintendent
Chairman

MARLON P. DESTREZA, EdD Chief Education Supervisor – SGOD Member SEGUNDINA F. DOLLETE, EdD Chief Education Supervisor - CID Member

KENNETH D. ANOCHE
EPS II - ALS
OIC, Office of the Administrative Officer V
Member

MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII Member

Approved by:



Department of Education

REGION VI – WESTERN VISAYAS

SCHOOLS DIVISION OF CAPIZ

COMPARATIVE ASSESSMENT RESULT FOR MASTER TEACHER II FY 2023 DISTRICT OF JAMINDAN

APPLICATION CODE	PERFORMANCE RATING (SY 2021-2022) (YEARS	EVDEDIENICE	Credit Points for Leadership Potentials and Accomplishments										
		(YEARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)		
ELEM-MTCH-CU70176	5.000	29	20	12	12	12	12	12	6	10	96		

NOTHING FOLLOWS

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIE B. SAMPANI, CPA, MPA
OIC, Office of the
Assistant Schools Division Superintendent
Chairman

MARLON P. DESTREZA, EdD Chief Education Supervisor – SGOD Member SEGUNDINA F. DOLLETE, EdD Chief Education Supervisor - CID Member

KENNETH D. ANOCHE
EPS II - ALS
OIC, Office of the Administrative Officer V
Member

MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII Member

Approved by:



Department of Education

REGION VI – WESTERN VISAYAS SCHOOLS DIVISION OF CAPIZ

COMPARATIVE ASSESSMENT RESULT FOR MASTER TEACHER II FY 2023 DISTRICT OF MAMBUSAO EAST

	PERFORMANCE	EXPERIENCE		Cre	dit Points f	or Leaders	hip Potenti	als and Acc	omplishme	ents	
APPLICATION CODE	RATING (SY 2021-2022)	(YEARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)
ELEM-MTCH-GG54177	4.950	17	0	12	12	12	12	12	0	2	62

NOTHING FOLLOWS

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIE B. SAMPANI, CPA, MPA
OIC, Office of the
Assistant Schools Division Superintendent
Chairman

MARLON P. DESTREZA, EdD Chief Education Supervisor – SGOD Member SEGUNDINA F. DOLLETE, EdD Chief Education Supervisor - CID Member

KENNETH D. ANOCHE
EPS II - ALS
OIC, Office of the Administrative Officer V
Member

MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII Member

Approved by:



Department of Education

REGION VI – WESTERN VISAYAS SCHOOLS DIVISION OF CAPIZ

COMPARATIVE ASSESSMENT RESULT FOR MASTER TEACHER II FY 2023 DISTRICT OF MAMBUSAO WEST

	PERFORMANCE EXPERIENCE		Credit Points for Leadership Potentials and Accomplishments										
APPLICATION CODE	RATING (SY 2021-2022)	(YEARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)		
ELEM-MTCH-VO53993	5.000	33	0	12	12	12	12	0	6	0	54		
ELEM-MTCH-BA30349	5.000	24	0	12	0	12	12	12	0	0	48		

NOTHING FOLLOWS

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIE B. SAMPANI, CPA, MPA
OIC, Office of the
Assistant Schools Division Superintendent
Chairman

MARLON P. DESTREZA, EdD Chief Education Supervisor – SGOD Member SEGUNDINA F. DOLLETE, EdD Chief Education Supervisor - CID Member

KENNETH D. ANOCHE
EPS II - ALS
OIC, Office of the Administrative Officer V
Member

MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII Member

Approved by:



Department of Education

REGION VI – WESTERN VISAYAS

SCHOOLS DIVISION OF CAPIZ

COMPARATIVE ASSESSMENT RESULT FOR MASTER TEACHER II FY 2023 DISTRICT OF PONTEVEDRA

	PERFORMANCE	EXPERIENCE	Credit Points for Leadership Potentials and Accomplishments										
APPLICATION CODE	RATING (SY 2021-2022)	(YFARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)		
ELEM-MTCH-BZ33712	5.000	18	20	12	12	12	12	12	3	10	93		
ELEM-MTCH-LN34986	4.900	31	20	12	0	12	12	12	6	0	74		
ELEM-MTCH-BO40183	4.950	25	20	12	12	12	0	12	3	0	71		

NOTHING FOLLOWS

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIE B. SAMPANI, CPA, MPA
OIC, Office of the
Assistant Schools Division Superintendent
Chairman

MARLON P. DESTREZA, EdD Chief Education Supervisor – SGOD Member SEGUNDINA F. DOLLETE, EdD Chief Education Supervisor - CID Member

KENNETH D. ANOCHE
EPS II - ALS
OIC, Office of the Administrative Officer V
Member

MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII Member

Approved by:



Department of Education

REGION VI – WESTERN VISAYAS

SCHOOLS DIVISION OF CAPIZ

COMPARATIVE ASSESSMENT RESULT FOR MASTER TEACHER II FY 2023 DISTRICT OF SAPIAN

	PERFORMANCE	EVDEDIENICE	Credit Points for Leadership Potentials and Accomplishments										
APPLICATION CODE	RATING (SY 2021-2022)	(YEARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)		
ELEM-MTCH-HA42307	4.950	23	0	12	0	12	12	12	0	0	48		

NOTHING FOLLOWS

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIE B. SAMPANI, CPA, MPA
OIC, Office of the
Assistant Schools Division Superintendent
Chairman

MARLON P. DESTREZA, EdD Chief Education Supervisor – SGOD Member SEGUNDINA F. DOLLETE, EdD Chief Education Supervisor - CID Member

KENNETH D. ANOCHE
EPS II - ALS
OIC, Office of the Administrative Officer V
Member

MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII Member

Approved by:



Department of Education

REGION VI – WESTERN VISAYAS SCHOOLS DIVISION OF CAPIZ

COMPARATIVE ASSESSMENT RESULT FOR MASTER TEACHER II FY 2023 DISTRICT OF TAPAZ EAST

APPLICATION CODE	PERFORMANCE	EXPERIENCE	Credit Points for Leadership Potentials and Accomplishments										
	RATING	(YEARS)	A (20)	B (12-7)	C (12-7)	D (12-7)	E (12-7)	F (12-7)	G (10)	H (10)	TOTAL (100)		
ELEM-MTCH-TZ66310	4.900	14	0	12	12	12	12	12	3	6	69		

NOTHING FOLLOWS

HUMAN RESOURCE MERIT PROMOTION AND SELECTION BOARD

MA. LUNIE B. SAMPANI, CPA, MPA
OIC, Office of the
Assistant Schools Division Superintendent
Chairman

MARLON P. DESTREZA, EdD Chief Education Supervisor – SGOD Member SEGUNDINA F. DOLLETE, EdD Chief Education Supervisor - CID Member

KENNETH D. ANOCHE
EPS II - ALS
OIC, Office of the Administrative Officer V
Member

MA. SHARON S. BARRIENTOS Administrative Officer IV/ HRMOII Member

Approved by: